INSTALLATION INSTRUCTIONS |

Chrome Radiator Grille Set
(99000-99031-10V)

Weight: 850g

: Chrome radiator cover
: Chrome radiator lower cover
: M6x 10 mm truss-head screw
{on existing radiator grille)
: Chrome M6x10 mm truss-head screw

® @O

Fig. 1 '

Removal

1. Loosen the leg shield on either side by removing
the M4x25 mm tapping screw (& at air inlet
(Fig. 2) and the M6x15 mm flanged boit ®
under the fairing extension assembly (Fig. 3).

-

Fig. 2

2. Loosen the side cowling cover assembly by
removing M4x16 mm truss-head screws @, each
complete with a plain washer (Fig. 4) and

M4x40 mm pan-head screw , complete with

plain washer.

W

P, TE I Y Yrx . 1
A’ IZUKI i



INSTALLATION INSTRUCTIONS [

3. Repe’atithe above two steps on the opposite side.
4. Referring to Figs. 5 and 6, remove the exist-
_ ing radiator grille by removing M6x10 mm truss-
head screws @) . Also remove the existing radiator
lower cover by removing its three M6x10 mm
truss-head screws.

Mounting

5. Using the four screws 3 removed in step 4 and
three more screws @ (chrome M6x10 mm truss-
head screws), install the chrome radiator grille
() and its lower cover @ . (Fig. 7—9)

® ©eC

: Chrome radiator grille
: Chrome radiator lower cover
: M6x 10 mm truss-head screw

(re-use removed screws)

: Chrome M6x10 mm truss-head screw

Fig. 8

6. Re-install the side cowling cover assembly and
leg shield by carrying out the removal sequence
of steps in the reverse order.

y e —__ ]

Fig. 9 Chrome radiator grille set in place




